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Program ext;

VAR T.A,58C0 integorn !

begin
write( Total maney =), res Jind), ‘ ’

Ao T cliv 500, : l
2

Cr= T omod 5800 mod 1l o v 20,

Do Tomod 500 mod 100 a0 od 20
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Program ex2;
VAR
score; array [1..100] of integer;
Average: real;
Sum,i,Count: integer;
begin
Count:=0; Sum:=0;
for | :=1 10 100 do
pegin
readin (score(l]);
sum:=sum-+score(l];
end,
Average:=sum/100;
Writeln('Average=' Average);
forl: =1t 100 do
if odd (score[[]) then count:= count+1;
Writeln (‘odd number=", count);
forl:=1to 100 do
if score [1]<50 then count:= count+1:
Writeln (‘integer<50=",count};

end.
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Program Count_Char(input,Output),
VAR
S, Letter :Set of Char,
Ch : Char;
Count_S,Count_L: integer;
Begin
S:=[a'/'e"i''o','u' /A" 'E''I''O",'U']
Letter:=['D','c’'d" 'F'.'g" 'Ry K et s VW
%y zBCL DV E LG UL MUNG P QLR
'STLVLWLIXLY 2,
Count_S:=0;Count_L:=0;
while not EOLN(Input) do

begin

writeln{'ch');

read(ch);

if ch in S then Count_ S:=Count-S+1

else if ch in Letter then Count_L:=Count_L+1,
End;

WriteIn('S Count=', Count_S);

Writeln('L.etter Count=", Count_L};

END.
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Procedure test208 ), D integer ; var £, T integer);
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Procedure test3(var B D, A, C: integer);

Begin
B =D+A;
D =A-C;
A = B+D;
C = C-A;
End,

6.1 flsunsundnimmuali A:=2,8:=5,C:=8 D=4
faiinnsdanld test2(A. B, C, D); A1A, B, C D wasnstifiFvilanihuminla

(5 AZLLUW)

AaU A=2,B=5,C=17,D0=-13

6.2 daltsunsuudninuual® A:=2,8:=5;C:= 8, D=4
faiinnsBanld test3(A, B, C, D); A1 A, B, C D wiinnlfiFeusiauihuwinle

{5 AZILLY)

naLl A=13,B=4,C=17,D=-13
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